Nhan véi lity thira ctia mudi (s6 bi thiéu)

Tén:

1,532 %

2,837 %

9,327 %

4,96 x

@sa ¢

= 1532

= 283.7

= 9327

=496

4,117 x

2,033 x

2,3 x

=41.17

= 2033

2,297 x

7,846 x

4,207 x

= 2300

=22.97

=784.6

=420.7

Ngaythang:_ Piém:__

10, 146 x = 10146
10, 616 x = 10616
7,53 x =753
7,914 x =791.4
2,228 X =222.8
9,003 x =900.3
1,525 x = 152.5
5,681 x = 5681

8, 791 x = 8791
3,557 x = 3557
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Nhan véi lily thira ctia mudi (s bi thiéu)
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Tén: Ngay thang: Piém:

1,532 x 1000 = 1532 10, 146 x 1000 = 10146

2,837 x 100 = 283.7 10,616 x 1000 = 10616

9,327 x 1000 = 9327

4,96 x 100 =496

4,117 x 10 =41.17

2,033 x 1000 = 2033

2,3 x 1000 = 2300

2,297 x 10 =22.97

7,846 x 100 = 784.6

4,207 x 100 = 420.7

7,53 x10="75.3

7,914 x 100 =791.4

2,228 x 100 = 222.8

9,003 x 100 =900.3

1,525 % 100 = 152.5

5,681 x 1000 = 5681

8,791 x 1000 = 8791

3,557 x 1000 = 3557
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